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Find the difference between the rates of the interest?

2. 65 BB
DL DY Directions (Q.No 6 - 10) What IBPS

will come in place of question mark

(?) in the following number series. Clerks Prelims

6. 16, 14, 24, 66, 256, 1270, ?

MODEL QUESTIONS 1) 8564 2) 5672 Numerical ability
3) 4561 4) 7608 Special

Directions (Q.No 1 - 5 ) What 5) 6340 \ Al

should come in place of question 7. 3,10, 32,100, ? Otfer Commaiive Brans /‘

mark (?) in the following questions? 1) 345 2) 460 ry

1. [(135)2 +15x32] =? = 45 x 24 3) 308 4) 440
1) 18 2) 24 5) None of these
3) 36 4) 44 8. 10, 68, 222, 510, ? 1. 2y2 -7y +6 =0
5) None of these 1) 729 2) 736 12.L.x2+x-6=0 .

2. 666.06 + 66.60 + 0.66 + 6.06 + 6 3) 1010 4) 1000 I1. 2y? — 13y +21 =0
+60="7 5) None of these 13.L.x2-x-6=0 = :

1) 819.56 2) 805.38 9. 13,16, 21, 28, 39, 52, ? II. 2y2 +13y +21 =0 simple interest is Rs 1200 for 3 5) None of these
3) 826.44 4) 798.62 1) 60 2) 65 14.1.x2=4 years. Find the difference 19. The present age of the father is 7
5) None of these 3) 69 4)73 IL.y2+6y+9=0 between the rates of the interest? times of his son. After 3 years the

3. 35% of 160 + ? % of 180 = 50% 5) None of these 15. 1. 2x + 3y =4 1) 10% 2) 5% father's age will be 5 times of his
of 310 10. 620, 632, 608, 644, 596, ? II. 3x + 2y = 11 3) 8% 4) 12% son. Find the present ages of
1) 35 2) 45 1) 536 2) 556 16. The average speed of a car is 5) None of these father and his son?

3) 65 4) 55 3) 656 4) 646 twice the average speed of truck. 18. The price of the Bike is Rs 1) 50yrs, 10yrs
5) None of these 5) None of these The truck covers 648 kms in 24 80,000 with two years guarantee 2) 45yrs, 9yrs
4. 47 +16*xV16 =2 hours. How much distance will and also insured to 80% of its 3) 40yrs, 8yrs
1 1 2) 1 Directions (Q.No 11 - 15) In ea- the car cover in 15 hours? price. The bike 1is totally 4) 42yrs, 6yrs
16 4 ch of the following questions two 1) 820 kms 2) 1024 kms damaged in one of the fire 5) None of these
3)4 4)1 equations are given. You have to 3) 810 kms 4) 980 kms accident and insured company 20. Fin how many different ways can
5) None of these solve the equations and give answer 5) None of these paid 80% of the insurance. What the letters of the word
3 Ex 4 <7 = 5376 DIfx<y 2)Ifx<y 17. The sum Rs 16,000 invested is the amount given by insurance "MANGOQ" be arranged?
8 7 HIfx=y Hlfx=y equally (Rs 8,000 and Rs 8,000) company? 1) 60 2) 180
1) 30912 2) 25144 S)If x>y at two different rates of interest 1) Rs 51,200 2) Rs 64,000 3) 360 4) 720
3) 24808 4) 25088 11. 1.4x2-8x+3=0 and the difference between the 3) Rs 48,900 4) Rs 36,000 5) None of these
CKEY & SOLUTION S) 7. 3; The given number series is Qy-3)(y=2)=0 Multiplying equation I by 3 and 8000x3x R, 8000X3xR, _ 1200
1. 3; based on the following pattern Y=2or 2/3 equation II by 2 and subtracting 100 100
[135X135X32] L 9= 45% 24 3x3+1=10 Clearly x <y equation II from equation I 240R, — 240R, = 1200
15 10x3+2=32 12. 1; 6x + 9y = 12 -R2=ﬂ)=5%
32 x 3 +4 =100 Lx2+x-6=0 6x + 4y =22 1 240
?:[135><135><32]: 100 x 3 + 8 = 308 x2 43X —2x—6=0 18. 1; The required amount
15x45x24 8. 3; The given number series is X(X+3)—2(x+3)=0 5y =—10 _8 80 «80.000 = 51,200

2. 2; based on the following pattern x+3)(x-2)=0 y=-2 100 100
666.06 + 66.60 + 0.66 + 6.06 + 6 23 +2=10 x=—3o0r2 putting the value of y = — 2 in  19. 4; Let the present age of the son
+ 60 = 805.38 43 + 4 =68 II. 2y> - 13y +21 =0 equation I. =X

3. 4;35% of 160 + 7% of 180 6>+ 6 =222 2y? — Ty —6y +21 =0 2x+3x-2=4 Present age the father = 7x
=50% of 310 83 + 8 =520 yR2y-T7)-32y-7)=0 2x =10 After 3 yrs father's age

3_5><16O+_?><180=5_0><310 10° + 10 = 1010 Qy-7T)(y-3)=0 x=35 =7x+3

100 100 100 9. 3; The given number series is y _ o3 so clearly x >y After 3 yrs son's age = X + 3
35 x 160 + ? x 180 =50 x 310 based on the following pattern 2 16. 3; The speed of the truck According to question
5600 + ? x 180 = 15500 13+3=16 So clearly x <y =ﬂg=27km/hr Sx+3)=7x+3
?x 180 = 15500 — 5600 16 +5 =21 13. 5; 24 5x +15=7x+3
? % 180 = 9900 21 4+7=28 Lx>2-x-6=0 The speed of the car =2 x 27 2x =12 X =6 yrs
92200 _ 45 28 + 11 =39 x2—=3x+2x-6=0 = 54 km/hr So their present ages

180 30+ 13 =52 X(x=3)+2(x—-3)=0 The distance covered by car =42 yrs , 6 yrs
4. 4; 52+ 17 =69 x+2)x-3)=0 =15 x 54 =810 km 20. 5;
A7 16" x J16 = 4—;><4:1 10. 3; .Thc.e pattern of the number X=—-2o0r3 17. 2; P =51=120
4 series is IL 2y2 + 13y 421 =0

5. 4 620 + 12 = 632 2y2 + Ty + 6y +21 =0
éxix?:5376 632 — 24 = 608 y2y +7)+3Q2y+7)=0
£ 13y s D0 9SS JEE MAIN

8 17 — = 7
725376, = 25088 2‘9“6‘ ) ‘6‘3 - 222 y=-3or-— | om0 S S _]

6. 4; The given number series is 11.2;1.4x>-8x+3=0 So clearly x >y E |
based on the following pattern 4x2 - 6x—2x+3=0 14. 5;1. x> =4 ® Quick Review T,
l1l6x1-2=14 2x(2x —3)-12x—-3)=0 X =2 . .
14%x2 —4=24 2x-1)(2x-3)=0 II. y2+6y+9:0 o Blt BankS PraCtlce tests
24 x3—6=066 _1 2 (y+3)2=0 .

66 x 4 — 8 =256 * 273 y+3=3=>y= -3 ¢ Previous Papers
256 x 5 —10 = 1270 IL2y>2 -7y +6=0 So clearly x >y = -
e SN i 1551 oy By = Visit: www.sakshieducation.com

1270 x 6 — 12 = 7608

epaper.sakshi.com

2y(y=2)-3(y-2=0

Il. 3x + 2y = 11




